Mechanics Sector 1: Vectors and RUVAT

Scalar — quantity that is defined by magnitude only
Vector — quantity that is defined by a scalar magnitude and a direction.

| Scalar Vector
- Distance Displacement
- Speed Velocity N
~ Tme Acceleration |

| - Mass Force e
A movement from A to B may be represented by the vector AB. The magnitude is /
given by the length and the direction by the arrow. Vector can also be written as
using single letter in bold, a (you would write this as a). ' /

We can represent the vector AB as a column vector.

i [4‘|/[ This tells us the number of units moved in the x-direction ]
AB = | ;
2

‘\{ This tells us the number of units moved in the y-direction J

3D Vectors -1

\We can also represent vectors in three dimensions relative to a three
dimensional coordinate grid. A third axis, the z-axis, is added at right angles to
the xv-plane. Conventionally, we show the z-axis pointing vertically upwards
with the xy-plane horizontal.

’
We can represent the vector 0P as a column vector. .
B
‘/t This tells us the number of units moved in the x-direction } A
OpP = 1?' ‘—“ This tells us the number of units moved in the y-direction ‘
| This tells us the number of units moved in the z-direction } ‘
; E

Page | 1



Adding, Subtracting and Multiplying Vectors

We can add and subtract vectors with same number of components by addlng or v ™,
subtracting the respective components. For example, when a = [3‘ and b =

. , 7] \\
then +b = m + [_27] = _64] , this can be represented geometrically.

When you multiply a vector by a scalar quantity, ¢, you multiply each of the components

b a
{4

/- 7 =
For example, when a = [gJ then the vector 2a = [2] the vector 2ais in the same
direction (parallel) as a but twice as long.

The vector a and the vector - a have the same length (magnitude) but have the
opposite direction. We would say that the vectors are anti-parallel.

Example 1

6 0
Given that a = l ] and b = [ Sj, find

-2
a) a—b 6 5 i
% =i :(_?' "(’5 = |
= = 1 5%, |
b) 2a+3b ‘ 0 |2 o |2
a4y b = 2(?‘ + g(-—S) = ("[" T (=8 = [-=i]
- - =1 -7 -7 - )
c) b—3a 2
h . L 'l — 1
b -3 = %(g) )(3 _1.)
- - |
Example 2 :

Identify which of the followmg vectors are parallel:

[ 5 (:O
a) a=
s -;L

and b =

(i
N
d"'--‘-‘.\
Ny
(&
()
I

=4 -2/ b \S& & ™Mo thyp (o of o

e K ard gﬁ (lhe_.ptkf?hl[&.[

2 o,
b) &= andd—-' ] Z A fz ;
. - = &= . =1 [ i
6 3 f‘ 2 c (f:\.. nal™ a Mul.[ﬂf(-k a- &
Example 3

Given that the vectors a and b are parallel find the values of x and y.

o p S
a= 2 andb:[x] 6 7 6'_1 s - )\~..§
e Y 5 i A k \ ')C_:. A)&_l - '__\:;
3

= = -2
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Base Unit Vectors

A unit vector is a vector that has a magnitude of 1 (see later).

The most important unit vectors are those running parallel to the x, y and z axes called base unit vectors.
i gives the number of units moved in the x direction, j gives the number of units moved in the y direction
and k gives the number of units moved in the z direction.

5 [1] - |0]
0 l

In three dimensions the base unit vectors are

o -k

6
For example, the vector [i] can be written as 4i + 5j and the vector | 1 | can be written as
: -2
6i +j — 2k.
Example 4
Given thata = 2i - 3jand b - 4i - j, find these terms of i and j.
aa-b b 3a+b c 2a—-b d2b'a
¢ 3a 2b f b 3a g 4b — a h 2a - 3b
ay 2. +2y + cH_j,g = 6Ly By =l ,,,3_3) blsmy = 100 + 8
R R o Al Y B O
C\ 'Zf"gi-}‘f..:ljﬂtlh“ -13 - q’d Cl‘ (_,(4’_!;_ "'g\ + [in i‘?_l) = IO,’L t -}'
e} R2i+y) -2y} = -2 +1y Al e -y-3(2e3)) = =~y

g) i)y ~(Uay) s -rg W AR ) 2 -y g

Example 5
Ciiven that a= 3i - 4f  Tkand b= -2i - 2j-+ 5k, lind
a la b -3b Cc a+b d 2a +b
e a 2b f 2a-3b ga b h 2a- 3b
N 23kl =FRY = 60 8 cuds k) <32 -y sK) = £ be) misk

<) 3 -H[,'l_ He + d'?'-‘:'?’:i Sl z ¢ +2) -2k d) 2(3£+k-j 4&;) r(_z;*z}' 151<) = it +() ~aK

¢) lBE“fr_i e} + 2 =2y 45K = -L +3%k F) 2(z Hej <) rg[_%‘_»ﬂ‘t%\ = 2) ri

‘ﬁ‘ A;_\_ + Lk) "—ﬂ(_« = (—'2:_ -?2;-5153 = S_,' TE-_J --—|lff- L\) l'(g..'. -I'L{-j ™ ?{E) - 'g(-'z_, -'.IJI +3‘k\:~ iz

ity =24
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Example 6

Find the angle that each of these vectors makes with the positive x-axis.
a 3i + 4j b 6i - 8j c 5i+ 12j d 2i + 4j

N8R () DG e (%)
,,_,_1___,3(-_ =53 1° \53

JC.:NM&
< aloove. +0e 2 52" kbw e

A LS (o Clpo‘culf.»e.)
(6" ankr Ltoctcwtu\

- A\ = i [f/'f = -lé-a
- ! QTW([%\ < e o= b (%) =3 -
2z & — (Abau{’. +ye A AxS
/{J_% 5L ® 6? [[' L (or hﬁc(,o:.-xw:.u\
S ’ above AUE Xﬁ-k-ti
Example 7 (67 arkiclortcn (sel
Given thata = 2i + Sjand b = 3i - j, find
a \Aifa ~ Ab is parallel to the vector i, b uif ya + b is parallel to the vector i
// l» _L: - J (oMPoM’J' =0 b j ) E Comppmu.ﬁ" o
AL 5> _{ 24 KX) Afo\ _/2Zm+3 )
()33 =(&3 O m(2)eE) (2
5-A<0 Lt Zp4 =0 /OL:"'K/Z
Ldw B
Example 8 (harder)
Given that ¢ = 3i + 4jand d = i - 2j, find
a rifc + Adis parallel toi + j, b wif uc + dis parallel to i + 3j,
¢ sif ¢ - sdis parallel to 2i + j, d tif d - tcis parallel to -2i + 3j.
N el =) ] ‘ Vb |
7 L{j ‘I«(c) IM”Y"MT’\\CN‘YQM lg\ | _L_afzq
Al ) T et e
< l ’563 L) ~lem -1
‘o BENT 2k w(*)+("l} / ﬁ:tz - te/tz
W™= > x4 = [Rpus | ~ "M
S = W _) e
L’Pﬂ/""z‘ )‘A P |
N Mk 7+ Zf‘s?- Ay b-*?;%g\)

(S (ng;aw\ = -l(j ufymd)

A ) - ()
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) S ’fg(t’fg 3(1-36) = ~2(-2 -4t)
ek ok 3~ = b« 8t
—_ = L
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Magnitude of a Vector

The magnitude (or modulus) of a vector is given by the length of the line segment representing it. The
magnitude of a vector is written as |AB| or |al.

\We can calculate this using Pythagoras’ Theorem for the vector where AB = EJ B

Bl (st = Jares = k% /'

In two dimensions, the magnitude of the vector EJ is Vva? + b?

\

The magnitude of a three-dimensional vector can be found by applying : _
Pythagoras's Theorem in three dimensions. E : F

AC 27— rhs

46l J ot e ¢ |
- JT [) """""""" ‘ C

\ a B
d a ‘ ™y
In three dimensions, the magnitude of the vector |b] is Va’ + b? + c?
. ¢ A
1 ==
Note the vectorsa = | 2 } and b = | 2 | have different directions but the same magnitude.
-3 3
Example 9
1 7
Giventhatp =| 2 |and q = [—4} find the magnitude of the vectors
—2 3
a p b) q c) ptq _
. 5 () ()= [2
) - i ¥ = S % = -7
afl\\J Tt 2% -2\ (9 = J 3% 61232 ETv= & S N
Kl ui

A=Ja =3 = Jie 1P ey) = Zoare e

Example 10
Find the magnitude of each of these vectors.

a 3i- 4 b 6i 8 c 5i+ 12§ d2i 4 e i+ 3-12

1
ANNEE W) J e & Jorer  A) T @) Rt da)
- T NOO = ) 1EY = J—l_o ::.JI(,‘I
il =10 =3 2 ZJe 213
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Bearings

The direction of a vector can be given as a bearing.

This is the angle measured in a clockwise direction from the north line (usually represented by the positive
j direction (vertical).

| would recommend that you draw a right angled triangle using your i and j components and resultant
vector. You can then find an angle within this triangle using SOHCATOA and then use this angle to find the
appropriate bearing angle.

Example 11
In1 this question, the horizontal unit vectors i and j are directed due east and due north
respectively.

Find the magnitude and bearing of these vectors.

az - 3 g & - e —3i + 2§
N R [ g o]
I ! 7 ”\4 3 )
3 > o« = ar (%) I'
- 5= bow™ - 3 = b Y,) = 265
. _‘(g\ o=k () o 32‘; o= tan(7,)
E o ?\f" = T Y% 0. ' ’j i o ‘:\W’lﬁ ~ 2}0‘%3‘;"
T 5% l?;),xuv‘?_.s = Q0 g0 |7 AT T 2304 Thr ‘ |
. — gf?*?— r— 2«‘{’? "t":\:__”
L2y 40 ST AN = {o¢ = PR
- - Reof T ZC(.."“ 2l
5 B (e 35F) Fosi 3" (3s#)
=, o, ) .lﬂf y |
?Jl) wu'\ v oalS o ' 11-0— R
& - A= 360 - ST
e (72 b hd e e 3

“ - 2o’
Position and Translgfion Vectors St 1

In general, a vector has no specific location. However the position vector of A relative to the origin is 5;1’,
this gives the position in relation to the origin. A position vector is like a co-ordinate, a translation vector is
like listening to the directions on a sat-nav.

If point A has position vector a and point B has position vector b, then AB = b —a

Example 12

The points 4, B and C have coordinates (2, —5,6), (0,2,5) and (-9, 2, 6) respectively.
a) Find the vector BC — [© PR > .
G -

b) Find the vector CA » — (?_

;5) 2 L‘?(:g-—c_ :(f_g\')_(—zﬁ):

[

l
|

c) The point D is such that AD = 2B(C. Show that D has the coordinates (—16, -5, 8).
5 R Z(Mq) B (_1.3) - Aeed Ffu.;\’f"l.nf\ Veshr o A

o] = (7))
Dwﬁﬁ A d= a +4p L o-orduabeg ok 1)
o s ny ) ) N
,./ = "15)1' ( (;o l(_; are. (_“3{ ,__g: o)
Page | 6 s : 5
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Unit Vectors

1
A unit vector is a vector that has magnitude 1. For example [_01] ‘ M are all unit vectors. You can

0

o wa b W=

w

always find a unit vector in the same direction as any given vector.

It is possible to find a unit vector parallel to any given vector, a, by dividing the vector by its magnitude.
The unit vector parallel to the vector a is denoted by a

So, ingeneral, a = |i| ar _.3‘__ O
[t l_f:..l —
Example 16
Find unit vectors in the direction of these vectors.
/5N 3
a ) b 4 c i 6j: 12k
\ -2 .
~12
d 2t 2+ 2k e 1351 « 20j f i-2j+5k
- - > —_— - F i 2
\\ (&) :'\’S"Jrlf“ b) ’}' “.Ig'“.a-t(-"’.{-(?} L’\ 1] 2 J*\ 674 (2
= 1% =13 - 3Jz
3 ; b
" (s ii:—(-‘-z_,‘fﬂ) 2- L (3)- B3
— — T — K = ——— i — )
_— k.. 5 1_,.} ’\L R -_— Ig z\ ‘z & VW2

"Z-S— — >
A i 2 > — = | Ta
_0_\:-;23.-:(7_):‘!:‘31) ’at__ | fiS
3|4 6\2 =" 2| a_,a__(_n_’)
| = -~ " Jo |~
Example 17 = {_.5(] = L3 “Xs5
=1 - 5le

The vectors a and b are given by a = 4i — 3j+ kand b = -3i + 3j + 7k.
Find the unit vector in the direction of

a) b
b) AB
Ronoas (3]
R = —_ = 2 e
GL\ |£}\ = Qfm b) = (q_ I
= JH = ”'—"'.
;‘9. = --"J]:-"(% &
¥ \3 = :
i 1AB] = J?H?%ﬁl
- 3 .
£ i i
A l 5 )
- sl 6
AR Tr ¢
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Distance between two points in three dimensions

Xy — X4
If two points have the coordinates P(x,, y;,z;) and Q(x;, ¥, 7,), then the vector PQ=q-p=|Y2— W
Z2 T 2)

and the distance between the two points P and Q is equal to the magnitude of the vector PQ.

So ‘P_Ql =J02 =012 + (2 — y1)? + (22 — 2,)%

(The distance between two points (x,, vy,2,) and (x,, y,,2,) is given by |
\/(-"52 =}ty = 3)2 H{a—5)*

N A,

Example 13

The point 4 and B have the coordinates (3,2, —1) and (2, 1,5) respectively. Find the distance between the

points A and B.
z 2 i
: _(2 :_4)
- s
S L (_,

=5y
B = b—a
-

)

A = \4g | = Jzi\"‘w(—t]"‘ 1 (¢
= /35
Colinear

I three points A, B and C are collinear then the vectors A5, BC and AC will all be parallel.

Example 14

=)
Prove that the points A (=5,1,3), B (—2,0,5) and C (7,—3,11) are collinear. ;5?8 oard- R e
AE — —‘Z ~ “I“S_ _ ,3 ;'2 - ‘.F _ .,'?_ C{ bkafl-'t'\ Mu“‘){p(us' (')F
f s . 1 o Bl ’3‘% =5 =
3 T : G - =
T ol oz SR el R, pendaR
=y i =3 _"3 . ~ - i
AC = (-g ) -/4 ) s i | B E LP(»?E\ 8 = (M) weall pamlal
T 3 g b eeoln othas
Example 15 (Harder) o 1 O 3] ~ A, R and C &2
Three points A. BaniC are collinearwithOA=| 5 |and OB =| -1]. cofliaens
r./\ﬂ-ﬁ"“""f‘-"-b of AC | -2 1

aude oF
b7 e
Given that AC = 2AB find the coordinates of the two possible positions of point C.

=3 3 ' . w
18 _(’, -(L - _2&) - C, = A+ Ak
1 22, sl 13 RS 2 2 AR

SO ) -
" ) 7 =3 5 = o
¢ - -4 = ¢ *
- A— - i
, 5 .G 2 (5 -7 4)
el B L2 g5 : ..___-_)
Gt Go=aq A,



General Vector Problems

Example 18

The points A and B have coordinates (2,1,—2) and (3,4, —1) respectively. The acute angle OBA is 6, where

0 is the origin.
a) Find the vector AB
b) Show that cosf =

B (3-1)- ()

:2% i»\ VS (@3 rola. whhere (PRSI of - maﬁadﬁolo. of weddr

& range
5 (& = [2recen &= bk AR — ALYAR) (s B
g = 5 ws\¢ = ..____* A &_ .'——__.——“:1

= AW (AR
W = Jsteter - L ;
bl ; N AR (e g"
o s = R
- ZJT«:.JTT -
Example 19 AR - . J&fee = : % . I,;; R T

€L
The points A, B and € have coordinates (2,4,3), (3,1,—1) and (1, -2, 4y respectwely Find the size of

angle ABC, giving your answer to the nearest degree.

TR

— e

-
IAR] =V et

o = (2)-f3) (2) L [T = JEE

\¢ k4 {
; =t l a (,—Rlsrgf,—z Ve s®
2 RC - (—2) () . -2 he'= (13\&<)
L - 5 3 =W + 7 ~ ?_J’;EJ;; s 5
=2 . 3 = +2% RE - porpn
& /—_\“ - ( tos = = 02642
IE l | § + 5 ’#1\5 257707
Example 20 /‘,,\/\ B= s (0-2602 A
= ',Lte 13i, s
- = 34 (&Ow*ﬁ(v
s . f)rﬂ;g)
oM
0 B

QAR s a triangle. 04 = a and OB
to OB. kxpress the vectorON in terms of a and b.

{'r-(\pu\,g[JL A 1 svadar }'YMA_gie_ l 0A8

= i
=", NN — rij oé
~ 1
- Ll
- P .
o 03« e Mﬂ;-l
-
6 = Za +L1)
™ &
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b. The point M divides OA in the ratio 2: 1. MN is parallel

gl sde 3 [0 (sa angls o Qo
t sudes gof A0 G L of sudey
o oA ‘

=y 3
OM . g pdeo 7 |
. —% —
S PN
E.—-—



Exam Questions
1. &i@(_,u_/\ ~j\)’\lf "-8 A(; pu.)l‘e_Pr.{pej—

Given that the point 4 has position vector 4i — 5§ and the point B has position vector —3i  2j.

—> \ ¥ _ (=5 -9
) find the vector 4B, A% = I'.’. —a4 = (’_25 — (js_) B (3 )
5 . = =
(b) find [4B]. AR | = ! q'?-.fg = |¢’[D py 3Jl—u

Give your answer as a simplified surd.

2. MA Prchw Se 1 AS Papar |

The position vector of point A is 7i + 9j b

The position vector of the midpoint of the line joining pomt A to point Bis 3i + §j

- :n&
(a) Find the position vector of the point B. ( ) C—E)

b= M MB = ‘3 =y ) A 30 .
= " = A —-—) [2 marks]
(b)  Find |AB| =

R Y D=6
S = = (_(g\ M_é‘ _ 8’2.1; g’?. [2 marks]

- 10
3. OCR. Juae 12 AS Papes— 1

OABC 1s a parallelogram with 04~ aand OC = ¢. Pis the midpoint of AC

{ B S i -
a P Pﬂn - -LAC’
O [§ C
(i) Find the following in terms of a and ¢, simplifying your answers.
(2. = & =k
(@) AC He =& =8 1
S N - \
SRS 4 R — - = . i C — A
w op O =a+Af = xabhc = ad zle—a 12]
=oal o e
(i) IHence prove that the diagonals of a parallelogram bisect one another. (4]
~>
OR = & + <
? Y & T o R ) O-% P S w“{ M\APGJ\J’_ of 08
P = 2w € Z : :
' < T & And oﬁ AC

Page | 10 - Ulka,ﬁémti hiseck one analr”



4. OCR Prachea 9 Papu 2
1 2 -4
Pomts A, B and C have position vectors [ 2 |, |—1|and | 0 | respectively.
3 5 3

(i) Find the exact distance between the nudpoint of AB and the midpoint of BC.

x
Point D has position vector | —=6| and the line CD is parallel to the line 4B.

(ii) Find all the possible pairs of x and -.

5. el Jore 13 AT Popor 2

Relative to a fixed origin O,

the point 4 has position vector (2i + 3j — 4k),

the point B has position vector (4 — 2j + 3k).

and the pomt € has position vector (ai + 5j — 2K), where @ 1s a constant and o < 0
D 1s the point such that 1B = BD.

(a) Find the position vector of D.

Given [1C| = 4

(b) find the value of a.

6. OCR Jure \8 AT g2
1 —3
The points 4 and B have position vectors [—2| and | —1 | respectively.
5 2

(i) Find the exact length ot 4B.

(ii) Tind the position vector of the midpoint of AB.

| 5
The points P and O have position vectors |2 and |1 | respectively.
0 3

(iii) Show that ABPQ 1s a parallelogram.

Page | 11
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G, OCR Ppinee Sef 2 Paps T

Motnoct 1

. B - J’ZO(
- 2 A
d T | )
Melro 1 | —>>C - ('f\, (__i) _ (_‘7_)
®- G- el
Mom,, = LAB + 182
AG 7
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5. OCh Tore 3 AT Paper L
Vo= (3)- (3 ()

- logh AB= i8] = Jur e T

OB
k 7 g:g_\—l—{ﬂ(ﬁ? *—&___}:_%@
A > , e
= :[,_z,) +J?:, \ )
0 s )
i = (:é/z
/.
1 \ .
s F parnd(ud Sl
- 3
R . &= EP Yhs  Aeans Hee D_J'fu'il.c‘t
) At - Gp Sules ar the Sorz
| e+ 1 sl dineion
) “ (pernlie!)
= L4 [ - ¢
-4& - ( = {,.'z_ - 3
= | -
o 7 =2
s -Lr) —> - : s g
(3] @G
-
Qf



Resultant vectors

The resultant vector is defined as the single vector that would have the same effect on an object as all the
vectors that are acting on the object.

ie.

= Resultant vector (e.g. force)

Finding the resultant vector of two vectors that are acting in perpendicular directions

15N

B

" 25N

1. Move the vertical vector so that it is now at the end of the horizontal vector

2. Draw a line from the start of the horizontal vector to the end of the vertical vector to form a right angled
triangle

Y

25

3. The magnitude of the resultant vector can be found by finding the ‘length’ of the hypotenuse using
Pythagoras’ Theorem.

R? = 25%2 4+ 15% = 850
R=29.1N
4. The direction of the resultant vector to the horizontal direction can be found by using

0=t _1( vertical )
= tan™ ' (—————
horizontal

In this case
T | 15 - " .
6 = tan (~2 5) = 31° to the horizontal
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Example 21

Find the magnitude and direction of the resultant vector of the following sets of perpendiculaL vectors. Give

the directions as a bearing. S
a) b) >
70 43 s
- 3
N - :
P =-J GEE 43
40 56 = .
v \%C«vu v o W»\ _‘:-__t_, ) _
&= «Q

R
ﬁ‘: T}OL{- ) E bm - 730 — A
Bk = W (.i-‘;\ = =

Finding the resultant vector when the vectors are given in column or base vector form

In this case. the resultant vector is the sum of the individual vectors

Example 22

Find the resultant vector of the following sets of vectors

a) 4i+2j,7i—3j and —i+13j

o= (-2 () = ()

r-J

Page | 13



Vector Components

Finding the components of a vector (resolving the vector) is the reverse process of finding the resultant;
you are splitting the vector into two parts, which would combine back to form your original vector.

Each part of the original resultant vector is called a component of the vector.

Usually vectors are resolved into horizontal and vertical directions.

The exception is when an object is on an inclined plane. In this case we resolve parallel and perpendicular
to the plane.

NB as displacement, velocity and acceleration are all vectors, we could resolve them in a similar way.

Rules

When resolving into an angle, multiply the magnitude of the force by the
cosine of the angle.
Rcos@

When resolving away from an angle, multiply the magnitude of the force
by the sine of the angle.
Rsin@

These quick rules come from considering a right angled triangle and using SOHCAHTOA

This side equivalent to the component
when you have resolved away from the
angle.

Considering SOHCAHTOA, the side of
the triangle is equal to Rsin @

This side is the component when you
have resolved into the angle.

Considering SOHCAHTOA, the side of
the triangle is equal to R cos @

Resolving vectors is used when considering

e Converting a vector with given magnitude and direction into either column or base vector form

e Finding resultant vectors when there are more than two vectors and they are not given in column or
base vector form (such as in a force diagram — see the mechanics sector 1 notes on forces)

e Forces in equilibrium (see the mechanics sector 1 notes on forces)

NB

« If the vector is acting in the direction that you are resolving in, then the component in that direction
is equal to the vector

 If the vector is acting perpendicular to the direction that you are resolving in, then the component
in that direction is equal to zero.
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e You use the same method when resolving vectors on an inclined plane, except that the directions you
are resolving in are parallel and perpendicular to the plane, rather than horizontally and vertically
(see the mechanics sector 1 notes on forces)

Example 23

The vector p has a magnitude of 50 and is inclined at an angle of 40° to the x-axis. Find the vector p, given
that it lies entirely in the x-y plane.

L @“\{’M = 50360 JC@°MF°M = D3O
(> - (1)

) SV oSO , A
P = @sﬁ.w) of  (SDcosle0)l + (sosﬂt{—o):,

Example 24

Find the components of the following forces

59N

- psves bo He f b

of -""PS\.A&,{)-
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Finding the resultant vector when the vectors under consideration are not perpendicular

There are a number of different methods that can be used to find the resultant vector when the forces you
are considering are not perpendicular.

e If there are just two vectors (or three force vectors in equilibrium), you can form a vector triangle by
moving one vector so that it's start is at the end of the other vector and then joining the start of the
first vector with the end of the second. You can then use the sine and cosine rule to find any unknown
quantities.

/ becomes /

L

« If there are more than two vectors (or more than three forces in equilibrium), you are expected to
resolve the vectors into horizontal and vertical components to find the resultant horizontal and
vertical components, which can then be used as shown above to find the overall resultant vector.

¢ Note that the latter method also works when there are just two vectors

Example 25

Find the resultant force (form a vector triangle and use the sine or cosine rule)

30N

12N
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Example 26

Find the resultant force (use the components method)

i . & _ K‘:
> 20 w325 \ 2 e
— 1S . {6
@aauszgﬂg
e | ] )
fT 30>uxc.8 T (SOSUQ‘S] £ (‘-_{DQ&SES-’L_'?_\
o _ a3
== I’MR\ ' RS 25 _ | |
4 (3%@&(5“_\1 = Gl T
Example 27

= 31 q4° (2F)

Find the resultant force

45N —
30N

45 s bO — o3t = = 54410
TR

~J £9 [ (_Q_'D'(‘"
k5cnb0 + SOsWLO — 20 = 29:1%.-

¢ TGy

— 19. 8N (3€0)
—\ [ 26-23 ) p
x= Y ;LMM) - 24-19. -
K = Fh 0
or ]g;z,c\rubb = 7790 — X
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Expressing quantities as vectors

As mentioned, quantities such as displacement, velocity and acceleration are vector quantities.

In one dimension, this is taken into account with a negative sign, as explained in the SUVAT section.
In two dimensions, we need to express the quantity either in i and j form, or as a column vector.

We can work out each component by resolving the vector quantity in the horizontal and vertical direction,
using the angle between the quantity and the horizontal.

r=dcosfi+dsindj

\d sin 6j _ (d COS 9)
d sin 6

dcos 6l

NB
Remember that if a bearing is used to describe the direction of a vector, the bearing is an angle measured
from the north line in a clockwise direction.

Example 28

An aeroplane is travelling at a speed of 150ms-' on a bearing of 300°. Express the velocity of the aeroplane
in the form r = ai + bj and as a column vector, where i and j are unit vectors that are directed east and
north, respectively.

6V N
0 LS
S02 :
o Mm /—lwm%
{ SO SO
AL ad y e s VAT
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Example 29

A toy car moves in a straight line with a velocity of 5i — 3j . Find the speed and direction of the toy car,
expressing the direction as a bearing.

l/Z

L9

by ‘j;i—-.
|t
N
rJ
..{-—
)
r.'l
\
o
®]
=

Exam Question

AQA M1 June 2017

3 The water in a river flows at 1.2 m s ' between two parallel banks that are 30 metres
apart. The point .1 is on one bank. The point B is on the other bank directly opposite .1,
and the point (" is downstream from B. The points are shown in the diagram below.

B &
— == _.____ i .__—___
1.2ms!
A
S S ____.._ —_— =

A boat, which moves at 2 m s relative to the water, crosses the river.

Model the boat as a particle.

(a) On one crossing the boat travels so that its velocity, relative to the water, is
perpendicular to the bank. It travels directly from the point .1 to the point ¢". Find the
distance between B and C.  &iwna brledd VO Onss (W= 39 = (S5

Ce
CORC 2 15%1) = 13m [3 marks]
(b) On another crossing, the boat heads in a different direction, so that it travels directly

from { to B. Find the time it takes the boat to cross from .1 to 5.

o 3‘— 4 marks
\r e J = EJL'-I‘E:.L [ ]
\

T I; }\/ - |6 s
d\ S 1d.2



Vectors in Mechanics — RUVAT

If the object is accelerating, we must use the equations of motion (SUVAT equations) to determine
unknown quantities such as displacement and velocity.
These can be applied to vectors as well as numerical values:

V= u-++at

.
S= ut+—-at-
2

t " at?
s= vit——=at
2

1
S= — t
2(u+\r)

NB
We can’t use the last equation (v* = u* + 2as), as multiplying vectors together involves methods with
vectors beyond the syllabus.

In many situations, the object will not start at the origin, O. The start and end position relative to the origin,
A and B, will be given as position vectors.

The displacement of the object is the vector connecting the start and end position.

Position after time ¢ r, is the initial position vector

r is the position vector after a certain

time ¢
Initial s is the displacement vector between
position the initial position and the position after

Origin, O s
. a certain time t

The displacement is linked to the position vectors via the following equations:

r=r,+s

or

S=r—r,
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The displacement vector can also be found using equations of motion:
» |If the object is travelling at a constant velocity, use

S=vt

o If the object is accelerating (or decelerating) then use SUVAT equations with vectors

+-ar?

S = ut —at-“
2

t+l t?

sSs=V —at
2

1
= = t
S 2(u-i-v)

The velocity after a certain time ¢ (if the object is accelerating) can be found using

Vv=u+at

NB
e The speed of an object at a certain time is the magnitude of the velocity vector at that time

« The direction of motion of an object is determined by the velocity vector
e The distance moved by an object is the magnitude of the displacement vector s.

e The distance between an object and the origin is the magnitude of the final position vector r.

Example 30 - RUVAT
A particle has initial velocity 3i — 5j and acceleration —i + 2j. It is initially positioned at the origin. Find

a) The velocity of the particle after 5 seconds
b) The position of the particle after this time.

5 ' O
»\’[K"\ - (H) L E(fJ = =2 =1
/ — o -__,_' —2 —
= % ﬁ ()L (_Qk‘u\\,[ru.“t«?
.f; {)ka\’u"‘*‘—‘l‘ at-o a-l\/

) . i & VLLQ P;,nho/\ V"(-.éb LA
v o= ("? } 4 (’fl )D afb s &
y i

ﬂ\ Vs L:} i £ =

] he (e sare as fle
- E (H ) a Aes plrietnet
| g ” \}'.:‘/,e.‘fb r

-) g - ut 4 datt
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Example 31 - RUVAT

A particle is initially at the origin with a velocity of —i + 2j. After 4 seconds, the particle is at the point A, with

position vector 4i — 6j.

a) Find the acceleration of the particle L') e w
b) Find the speed of the particle when it reaches A. - e

XA b o _
[ = s S = (

d

Example 32 — Constant Velocity

z
; Fo 4.1 - v = E
N soupria - <_5)

v |

- c = Z 2
5) B = 3% =)

E
]

. ' 4 "
' — '(" — Pl [ e

a - 4 (81 ««S = (‘I?/ ) i = 5B
- - e 633{1\

A boat is travelling at a constant velocity of 4i — 2j ms'. Initially, the boat is at a point A, which is at position
—3i + 10j relative to the origin.

Find:

a) The speed of the boat

b) The direction of motion that the boat is travelling in, giving your answer as a bearing
c) An expression for the position of the boat after ¢ seconds

d) The distance between the boat and the origin after 4 seconds

«) sped = v =

5\ lﬁ\ oK

'L{,L-}-'Z_:L = ZE ME_‘\

2 G gFms T (R

=

': ux{;iﬂ
S bearng = ADHTEL = N6 = dF (2st)
C\ consiadt welecthy, . S 2V F

-

-2+ 4 €
= = (ID-—’LE

du.ghk.ci *4)"‘\ 01Lgy A — '{:‘ = ]31*” (S \J-ﬁ:f—S
l’\-_; (/)f_‘_)-“\,[r' Fos (Lein e 131/‘« (?5\("\



Example 33 - RUVAT

A ball is moving on a horizontal plane at a constant acceleration of 3i ms~*. Its initial position and velocity
are i + 5j and —3i + 2j respectively.
Find:

a) The velocity of the ball after 4 seconds.

b) The position of the ball after 7 seconds.

c) The bearing from the origin to the ball's position after 7 seconds.

Lefs) we(F) e =0

,0\\ 63(-%' Vo= U

e

< T 1y X = [/ LG
/( w 7)

Page | 23



Example 34 — RUVAT

A particle is moving on a horizontal plane. Initially the particle has a velocity of 12i + 4j and is at a position
of —2i + 7j relative to the origin . After 5 seconds, the velocity of the particle is 15i — 3j.

Find
a) The acceleration of the particle. (. ,(:Z 2® Lﬂf'
b) An expression of the velocity of the particle after t seconds. -
c) An expression for the position of the particle after t seconds. V= . $3
d) The time at which the direction of motion of the particle is parallel to the vectori - _ <
;&\ f: = S

==
W Y)
——i:-‘—r—""'
e ]
J,J
P
*
)
v
I>
W)
(=
il
C{
N
“--_.-/

If the direction of motion of the

_ 0§ 1 particle is parallel to the vector i (or

— ( ) Mms due east) then the j component of
the velocity vector is equal to zero

. If the direction of motion of the
V)) - i particle is parallel to the vector j (or
\-'-/ = U+ _0\’& due north) then the i component of
the velocity vector is equal to zero

il = -
Y
&) s = uk g dat L (e o
.:"l"_ ( DLC"L —.,-_-__: o
(&)« 42 te ot
~ A~ ) - [\ | [k 4o3ER
= F Lk L -4 [?) +(z(fr&~o'}tz)
= —-Z+12640=367)
T 4t -0FL?

d\ A\J“C@lr}‘)“ OF Main-o/'\ — {;{M{n(y\ ()',r— Vv
/7 b L . .,\ ompanet =i
-4t =0
U= (-t
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Exam Questions

AQA June 2009

7 A particle moves on a smooth horizontal planc. 1t 1s initially at the point 4. with position
veetor (9i + 7j)m. and has velocity (—2i + 2j)ms~" . The particle moves with a constant
acceleration of (0255 + 0.3j) ms™ = for 20 seconds until it reaches the point B. The unit
vectors iand j are direeted cast and north respectively.

() Find the velocity of the particle at the point B. (3 marks)
(b)  Find the velocity of the particle when it is travelling duce north. (4 marks)
(¢)  Find the position vecetor of the point 8. (3 marks)
(d)  Find the average velocity of the particle as it moves from A to B. 2 marks)

AQA January 2008

8 A Jet Skiis at the origin and is wravelling due north at Sms~! when it begins to accelerate

unilormly. After accelerating tor H) seconds, it is travelling due cast at 4 ms~!. The unit

vectors iand joare direeted cast and north respectively.
(- Show that the aceeleration of the Jet Skiis (017 0125 ms 2. (4 ik
(b Fnd the position vector of the Jet Ski at the end of the 40 second period. (3 murhs)
(o) The det Skas ravelling southeast 1 seconds after it leaves the orgin.

(i Find e (5 amcirhs)

i Fand the veloeny of the Jet Skiat this tme. {2 marhs)

AQA June 2012

i . - & - 3 i i el
7 A particle moves with a constant aceeleration of (0.1i - 0.2j)ms =, It is initially at
the origin where it has velocity (=i + 3j)m 1 The unit vectors i and j are
directed cast and north respectively.

(a) Find an expression [or the position vector of the particle 7 seconds after it has left the
Orrgin. (2 marks)

(b) Find the time that it takes for the particle to reach the pomt where it 1s due cast of
the orgin (3 muarhs)

(c) Find the speed of the particle when it s travelling south-cast (6 muarks)
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AQA June 2017

7 A jet ski moves on a lake, with an acce!eranon of (0.25i + 1.2j) m s ~. At the point 4. the
jet ski has velocity (4i — 1.6j) m s

The unit vectors i and j are directed east and north respectively.

(a) Find the speed of the jet ski 2 seconds after it leaves 1.
[4 marks]

(b) At the point B, the jet ski has speed 10 ms ' . Find the average velocity of the jet ski as
it travels from .4 to 5.
[9 marks]

AQA June 2014

T Two partlcles 4 and B, move on a horizontal surface with constant accelerations of
0.4ims 2 and 0. 2jms 2 respec:twely Attime ¢ = 0, particle 4 starts at the origin
with velocity (4i + 2j)ms Attime ¢ = 0, particle B starts at the point with position
vector 11.2i metres, with velocny (0.4i + 0. ()|)ms L,

(a) Find the position vector of 4, 10 seconds after it leaves the origin.
[2 marks]
(b) Show that the two particles collide, and find the position vector of the point where they
collide.
[9 marks]
AQA New Spec Practice Paper 2
10 Relative to a fixed point, O, a lighthouse has position vector (30i + 50j) km
At noon, a boat has position vector (85i - 45j) km
The unit vectors i and j represent east and north respectively.
10 (a) Find the distance between the boat and the lighthouse at noon.
[2 marks]
10 (b) Find the bearing of the lighthouse from the boat at noon.
[2 marks]

Page | 26



Edexcel New Spec Specimen Paper

6. A particle, P, moves with constant acceleration (i—2j) ms=.

Attime t= 0 seconds, the particle is at the point 4 with position vector (2i + 5j) m and 1s
moving with velocity u m s

Attime t= 3 seconds, P is at the point B with position vector (—2.5i + 8j) m.

Find u.

Solomon Paper E (Edexcel)

. b, Ty 5 . m—_ i -1 « v i . s .
7. A particle has an initial velocity of (i — 5j) ms™ and is accelerating uniformly in the direction
(2i + j) where i and j are perpendicular unit vectors.

Given that the magnitude of th : acceleration is 3V5 ms™,
(a)  show that. after 7 second . the velocity vector of the particle is

[ 61+ Di+ (3r—5)j] ms™. (6 marks)
(b)  Using your answer to pa  (a). or otherwise, find the value of 7 for which the speed of

the particle 1s at its niinii. um.
(5 marks)

Solomon Paper G (Edexcel)

5. Two dogs, Fido and Gro vler, : e playing in a field. Fido is moving in a straight line so that at

time 7 his position vector relati e to a fixed origin, O, is given by [(27 — 3)i + 1j] metres.
Growler is stationary at t11¢ poi t with position vector (2i + 5j) metres. where i and j are
horizontal perpendicular unit v. ctors.

(a)  Find the displacer ent ve. tor of Fido from Growler in terms of 7. (2 marks)
(b Find the value o' 7 for whi :h the two dogs are closest. (6 marks)
(¢)  Find the mininr i distanc ¢ between the two dogs. (3 marks)
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